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https://www.freepressjournal.in/health/ramanujan-formula-explains-black-holes 

https://www.mobipicker.com/first-picture-black-hole-finally-snapped-sagittarius-captured-glory/ 
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Manuscript Book Of Srinivasa Ramanujan Volume 1  
 

 

Page 253 
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For x = 2, we obtain: 

1-5(2/(1+2)-(3*2^3)/(1+2^3)+(4*2^4)/(1+2^4)-
(7*2^7)/(1+2^7)+(9*2^9)/(1+2^9)+(11*2^11)/(1+2^11)-(12*2^12)/(1+2^12) 

Input: 

 
 
Exact result: 

 
 
 
 
 
Decimal approximation: 

 
-12.9949304429428….. 
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7+11*((((1-5(2/(1+2)-(3*2^3)/(1+2^3)+(4*2^4)/(1+2^4)-
(7*2^7)/(1+2^7)+(9*2^9)/(1+2^9)+(11*2^11)/(1+2^11)-(12*2^12)/(1+2^12))))))^2 

Where 7 and 11 are Lucas numbers 

Input: 

 
 
Exact result: 

 
 
Decimal approximation: 

 
1864.550389…. result practically equal to the rest mass of D meson 1864.84 
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For x = 2, we obtain: 

1+240((1/(e^44-1)+2^3/(e^84-1)+3^3/(e^124-1))) 

Input: 

 
 
Decimal approximation: 

 
1.000000000000000018674717378721112273859584943229034676537… 

 

Alternate forms: 
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Alternative representation: 

 
 
Series representations: 

 

 

 
 

 

1-504((1/(e^44-1)+2^5/(e^84-1)+3^5/(e^124-1))) 

Input: 

 
 
Decimal approximation: 

 
0.999999999999999960783093504685660226319393489434666881702… 

 

 
Alternate forms: 
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Alternative representation: 

 
 
Series representations: 

 

 

 
 

 

Now, we have: 

1+240((1/(e^44-1)+2^3/(e^84-1)+3^3/(e^124-1))) - ((((1-504((1/(e^44-1)+2^5/(e^84-
1)+3^5/(e^124-1))))))) 

Input: 

 
 
Exact result: 

 
Decimal approximation: 

 
5.7891623874…*10-17 
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Property: 

 
 
Alternate forms: 

 

 
Alternative representation: 

 
 
Series representations: 

 

 

 
 

 

 

[1+240((1/(e^44-1)+2^3/(e^84-1)+3^3/(e^124-1)))-((((1-504((1/(e^44-1)+2^5/(e^84-
1)+3^5/(e^124-1)))))))]^1/4096 

Input: 
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Decimal approximation: 

 
0.9909136133235….. result very near to the value of the following Rogers-
Ramanujan continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

 

Property: 

 
 
Alternate forms: 
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All 4096th roots of 240 (1/(e^44 - 1) + 8/(e^84 - 1) + 27/(e^124 - 1)) + 504 
(1/(e^44 - 1) + 32/(e^84 - 1) + 243/(e^124 - 1)): 

 

 

 

 

 
 

Alternative representation: 
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Series representations: 
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Integral representation: 

 
 

And: 

2sqrt((((log base 0.9909136133 [1+240((1/(e^44-1)+2^3/(e^84-1)+3^3/(e^124-1)))-
((((1-504((1/(e^44-1)+2^5/(e^84-1)+3^5/(e^124-1)))))))]))))-Pi+1/golden ratio 

Input interpretation: 

 

 
 

 
Result: 

 
125.47644…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 

 

 
Alternative representation: 

 
 
Series representations: 
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In conclusion: 

(8/((sqrt(729)*64^6)))*1/[1+240((1/(e^44-1)+2^3/(e^84-1)+3^3/(e^124-1)))-((((1-
504((1/(e^44-1)+2^5/(e^84-1)+3^5/(e^124-1)))))))]-987 

where 987 is the mass of the scalar meson f0(980)  

Mass ∼ 987  OLLER  99C  RVUE   ππ → ππ, K K, ηη 

990 ±20 OUR ESTIMATE  (http://pdg.lbl.gov/2019/listings/rpp2019-list-f0-980.pdf) 

Input: 
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Exact result: 

 
 
Decimal approximation: 

 
73491.45297213… 

 
Property: 

 
Alternate forms: 

 
 

and also: 

golden ratio+1/10^13*1/[1+240((1/(e^44-1)+2^3/(e^84-1)+3^3/(e^124-1)))-((((1-
504((1/(e^44-1)+2^5/(e^84-1)+3^5/(e^124-1)))))))] 

Input: 

 

 
 
Decimal approximation: 

 
1728.9836407…. 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

 

Property: 
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Alternate forms: 

 
 
 
Alternative representations: 

 

 

 
 

 

 

We have also the following mathematical connections: 
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ቌ ቍ = 73491.4529..⇒ 

 

⇒ −3927 + 2

⎝

⎜
⎛
ඪ

+
భయ

⎠

⎟
⎞
= 

 

                      
     
                     = 73490.8437525.... ⇒ 
 
 

⇒ ൬𝐴(𝑟) ×
1

𝐵(𝑟)
൬−

1

𝜙(𝑟)
൰ ×

1

𝑒Λ(௥)
൰ ⇒ 

 

⇒ ቌ ቍ = 

               =   
 
               =  73491.7883254... ⇒ 
 
 

⎝

⎜
⎛

⎠

⎟
⎞

/ 

 

       /(26 × 4)ଶ −24  = ቌ ቍ = 73493.30662… 

 
 
Mathematical connections with the boundary state corresponding to the NSNS-sector 
of N Dp-branes in the limit of u → ∞, with the ratio concerning the general 
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asymptotically flat solution of the equations of motion of the p-brane and with the  
Karatsuba’s equation concerning the zeros of a special type of function 
connected with Dirichlet series. 
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For x = 2  and  z = 1, we obtain: 

1/4*sqrt(2(1-2)) ((((1-1232*2(1-2)+7936*2^2(1-2)^2))) 

Input: 

 
 
Result: 

 
 
Decimal approximation: 

 
 
Polar coordinates: 

 
12094.7 

From which: 
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2Pi(((1/4*sqrt(2(1-2)) ((((1-1232*2(1-2)+7936*2^2(1-2)^2)))))))-2517.9i +18i 

Where 2517.9 is the rest mass of charmed Sigma baryon and 18 is a Lucas number 

Input interpretation: 

 

 
 
Result: 

 
 
Polar coordinates: 

 
73493.4 

 

We have the following mathematical connections: 

 

ቆ ቇ = 73493.4 ⇒ 

⇒ −3927 + 2

⎝

⎜
⎛
ඪ

+
భయ

⎠

⎟
⎞
= 

 

                      
     
                     = 73490.8437525.... ⇒ 
 
 

⇒ ൬𝐴(𝑟) ×
1

𝐵(𝑟)
൬−

1

𝜙(𝑟)
൰ ×

1

𝑒Λ(௥)
൰ ⇒ 

 

⇒ ቌ ቍ = 

               =   
 
               =  73491.7883254... ⇒ 
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⎝

⎜
⎛

⎠

⎟
⎞

/ 

 

       /(26 × 4)ଶ −24  = ቌ ቍ = 73493.30662… 

 
 
Mathematical connections with the boundary state corresponding to the NSNS-sector 
of N Dp-branes in the limit of u → ∞, with the ratio concerning the general 
asymptotically flat solution of the equations of motion of the p-brane and with the  
Karatsuba’s equation concerning the zeros of a special type of function 
connected with Dirichlet series. 
 

 

 
Series representations: 

 

 

 
 

And we have also: 

(golden ratio)i+1/7(((1/4*sqrt(2(1-2)) ((((1-1232*2(1-2)+7936*2^2(1-2)^2))))))) 

Where 7 is a Lucas number 
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Input: 

 

 
 

 
Result: 

 
 
Decimal approximation: 

 
1729.4334538…i 

 

Polar coordinates: 
 

1729.43 

This result is very near to the mass of candidate glueball f0(1710) meson. 
Furthermore, 1728 occurs in the algebraic formula for the j-invariant of an elliptic 
curve. As a consequence, it is sometimes called a Zagier as a pun on the Gross–
Zagier theorem. The number 1728 is one less than the Hardy–Ramanujan number 
1729 

 

 
Alternate forms: 

 

 

 
 
Minimal polynomial: 

 
 
Series representations: 
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We have also: 

(golden ratio)i+1/7(((1/4*sqrt(2(1-2)) ((((1-x*2(1-2)+7936*2^2(1-2)^2))))))) = 
1729.433453818i 

Input interpretation: 

 

 
 

Result: 

 
 
Alternate forms: 

 

 

 
 
Expanded form: 

 
Alternate form assuming x is real: 
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Solution: 

 
1232 

 

 

 

Or: 

ix / ((7sqrt(2))) = 0.×10^-26 + 124.450793489 i 

Input interpretation: 

 

 
 
Result: 

 
 
Alternate form: 

 
 
Real solution: 

 
1232  result equal to the rest mass of Delta baryon 1232 

 

From which: 

i1232 / ((7sqrt(2))) = 0.×10^-26 + x i 

Input interpretation: 

 

 
 
Result: 
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Alternate forms: 

 

 

 
 
Real solution: 

 
124.451 

 

124.451 + 1/golden ratio 

Input interpretation: 

 

 
Result: 

 
125.069….  result very near to the dilaton mass calculated as a type of Higgs boson: 
125 GeV for T = 0 

 

 
Alternative representations: 
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For x = 2, we obtain: 

 (1+2)/(1-2) – 2^2 (1+2^3)/(1-2^2) + 2^6(1+2^5)/(1-2^5) – 2^12(1+2^7)/(1-2^7) 

Input: 

 
 
Exact result: 

 
 
Decimal approximation: 

 
4101.3749047.... 

From which: 

1/3 ((((1+2)/(1-2) – 2^2 (1+2^3)/(1-2^2) + 2^6(1+2^5)/(1-2^5) – 2^12(1+2^7)/(1-
2^7)))) + 18 

Where 18 is a Lucas number: 

Input: 

 
 
Exact result: 
 

 
Decimal approximation: 

 
1385.124968249... result very near to the rest mass of Sigma baryon 1383.7 

 

We have also: 

1/((((1+2)/(1-2) – 2^2 (1+2^3)/(1-2^2) + 2^6(1+2^5)/(1-2^5) – 2^12(1+2^7)/(1-
2^7))))^1/4096 

Input: 
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Result: 

 
 
Decimal approximation: 

 
0.997971036345…. result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

 

 

Alternate form: 

 
 

2 log base 0.997971036345 ((((1/((((1+2)/(1-2) – 2^2 (1+2^3)/(1-2^2) + 
2^6(1+2^5)/(1-2^5) – 2^12(1+2^7)/(1-2^7))))))))^1/2 - Pi+1/golden ratio 

Input interpretation: 
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Result: 

 

125.4764413…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 

 

 
Alternative representation: 

 

 
Series representations: 
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1/4 log base 0.997971036345 ((((1/((((1+2)/(1-2) – 2^2 (1+2^3)/(1-2^2) + 
2^6(1+2^5)/(1-2^5) – 2^12(1+2^7)/(1-2^7))))))))^1/2 + 1/golden ratio 

Input interpretation: 

 

 

 

 
Result: 

 

16.61803399…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 

Alternative representation: 
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Series representations: 

 

 

 

For x = 0.5, we obtain: 

(1+0.5)/(1-0.5) – 0.5^2 (1+0.5^3)/(1-0.5^2) + 0.5^6(1+0.5^5)/(1-0.5^5) – 
0.5^12(1+0.5^7)/(1-0.5^7) 

Input: 

 
 
Result: 

 
2.641385079…. result very near to the value of golden ratio square and to the M of 
black hole for ℓ = 4 and 𝜔 = 0.75793  (see Tables in Appendix) 

And: 

7*((((1+0.5)/(1-0.5) – 0.5^2 (1+0.5^3)/(1-0.5^2) + 0.5^6(1+0.5^5)/(1-0.5^5) – 
0.5^12(1+0.5^7)/(1-0.5^7)))) - golden ratio 

Input: 
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Result: 

 

16.8717…. result very near to the mass of the hypothetical light particle, the boson 
mX = 16.84 MeV 

 

Alternative representations: 

 

 

 

 

We have also that: 

((((((1+0.5)/(1-0.5) – 0.5^2 (1+0.5^3)/(1-0.5^2) + 0.5^6(1+0.5^5)/(1-0.5^5) – 
0.5^12(1+0.5^7)/(1-0.5^7))))))^1/2 - 7/10^3 

Where 7 is a Lucas number 

Input: 

 
 
Result: 
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1.61823385368287..... result that is a very good approximation to the value of the 
golden ratio 1,618033988749... 
 
 

And: 

1/((((((1+0.5)/(1-0.5) – 0.5^2 (1+0.5^3)/(1-0.5^2) + 0.5^6(1+0.5^5)/(1-0.5^5) – 
0.5^12(1+0.5^7)/(1-0.5^7))))))^1/256 

Input: 

 
 
Result: 

 
0.99621303.... result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

1/2*log base 0.99621303 ((((1/((((((1+0.5)/(1-0.5) – 0.5^2 (1+0.5^3)/(1-0.5^2) + 
0.5^6(1+0.5^5)/(1-0.5^5) – 0.5^12(1+0.5^7)/(1-0.5^7))))))))))-Pi+1/golden ratio 

Input interpretation: 
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Result: 

 

125.476…. result very near to the dilaton mass calculated as a type of Higgs boson: 
125 GeV for T = 0 

 

Alternative representation: 

 

 
 
Series representations: 

 

 

 

For αβ = π2;  α = π; β = π, from page 269, we obtain: 
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We have: 

(A) 

e^(-Pi*sqrt(3)) sqrt(golden ratio) * (144-3^2)   (((((1+1/4(1-Pi)))+((1*3)/(2*4))^2((1-
Pi)^2))))/(((((1+1/4(Pi)))+((1*3)/(2*4))^2(Pi)^2))) 

 

Input: 

 

 

 
Exact result: 

 

 
Decimal approximation: 

 

0.260195204189…. 

 

Alternate forms: 
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Series representations: 
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Applying the formula for the calculation of a(n) regarding the coefficients of the “5th 
order” mock theta function 𝜓ଵ(𝑞), that for n = 105, provises  a(n) = 171 

 

a(n) ~ sqrt(phi) * exp(Pi*sqrt(n/15)) / (2*5^(1/4)*sqrt(n)) 

 

that is: 

  
 

We obtain: 

e^(-Pi*sqrt(3)) sqrt(golden ratio) * exp(Pi*sqrt(105/15)) / (2*5^(1/4)*sqrt(105))   
(((((1+1/4(1-Pi)))+((1*3)/(2*4))^2((1-
Pi)^2))))/(((((1+1/4(Pi)))+((1*3)/(2*4))^2(Pi)^2))) 

 

Input: 

 

 

Exact result: 

 

Decimal approximation: 

 

0.25609370292….  

Alternate forms: 
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Alternative representations: 

 

 

 

 
 
Series representations: 
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36 
 

 

 

 

Now, we have, for n = 105.4568: 

 

(B) 

e^(-Pi*sqrt(3)) sqrt(golden ratio) * exp(Pi*sqrt(105.4568/15)) / 
(2*5^(1/4)*sqrt(105.4568))   (((((1+1/4(1-Pi)))+((1*3)/(2*4))^2((1-
Pi)^2))))/(((((1+1/4(Pi)))+((1*3)/(2*4))^2(Pi)^2))) 

 

Input interpretation: 

 

 

 
Result: 

 

0.2601955763944….. 

 
Alternative representations: 



37 
 

 

 

 

 
 
 
Series representations: 
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We note that 0.25609370292….  is a value very near to the one just obtained 
0.2601955763944….. and to that obtained previously 0.260195204189…. 

Now, we have: 

((1+1/4(1-Pi)))/(1+1/4*Pi) 

Input: 

 

 
Decimal approximation: 

 

0.2602230954…. result very near to 0.2601952 and 0.26019557  

 

Property: 
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Alternate forms: 

 

 

 

 
Alternative representations: 

 

 

 

 
Series representations: 

 

 

 

 
Integral representations: 
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Thence, we have: 

⎝

⎜
⎜
⎜
⎜
⎜
⎛

⎠

⎟
⎟
⎟
⎟
⎟
⎞

≅

⎝

⎜
⎛

⎠

⎟
⎞
⇒ 

  

                     ⇒ 0.2601955763944….≅ 0.2602230954…. 

 

Now, from (A),we obtain: 

[e^(-Pi*sqrt(3)) sqrt(golden ratio) * (144-3^2) * (((((1+1/4(1-
Pi)))+((1*3)/(2*4))^2((1-Pi)^2))))/(((((1+1/4(Pi)))+((1*3)/(2*4))^2(Pi)^2)))]^1/256 

Input: 

 

 

 
Exact result: 
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Decimal approximation: 

 

0.9947547299406…. result very near to the value of the following Rogers-
Ramanujan continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

Alternate forms: 

 

 

 
All 256th roots of (135 e^(-sqrt(3) π) (1 + (1 - π)/4 + 9/64 (1 - π)^2) sqrt(ϕ))/(1 + 
π/4 + (9 π^2)/64): 
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Series representations: 
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Integral representation: 

 

1/2((((log base 0.99475472994 [e^(-Pi*sqrt(3)) sqrt(golden ratio) * (144-3^2) * 
(((((1+1/4(1-Pi)))+((1*3)/(2*4))^2((1-
Pi)^2))))/(((((1+1/4(Pi)))+((1*3)/(2*4))^2(Pi)^2)))]))))-Pi+1/golden ratio 

Input interpretation: 

 

 

 

 
Result: 

 

125.476441…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 

 
 
Alternative representation: 
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Series representations: 

 

 

 

 

And: 

1/16((((log base 0.99475472994 [e^(-Pi*sqrt(3)) sqrt(golden ratio) * (144-3^2) * 
(((((1+1/4(1-Pi)))+((1*3)/(2*4))^2((1-
Pi)^2))))/(((((1+1/4(Pi)))+((1*3)/(2*4))^2(Pi)^2)))]))))+1/golden ratio 
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Input interpretation: 

 

 

 

 
Result: 

 

16.6180340…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 

Alternative representation: 

 

 
Series representations: 
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Now, we have that: 

 

 

 

sqrt((((Pi^3/Pi)^1/8 – Pi))) ((1+1/4*Pi+(3/8)^2*Pi^2)) 

Input: 
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Exact result: 

 

Decimal approximation: 

 

4.269557122… 

Polar coordinates: 
 

 
Alternate forms: 

 

 

 

 
 
Series representations: 
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  3sqrt((((((Pi^3/Pi)^1/8 – Pi)))/(((Pi^3/Pi)^1/8 – Pi))) 

Input: 

 
 
Exact result: 

 
3 

 

Multiplying the two results, we obtain: 

  3sqrt((((((Pi^3/Pi)^1/8 – Pi)))/(((Pi^3/Pi)^1/8 – Pi)))) * sqrt((((Pi^3/Pi)^1/8 – Pi))) 
((1+1/4*Pi+(3/8)^2*Pi^2)) 

Input: 
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Exact result: 

 

Decimal approximation: 

 

12.808671366143…. result that is very near to the value of black hole entropy 
12.5664 

Polar coordinates: 
 

 
Alternate forms: 

 

 

 

 
 
 
 
 
Series representations: 
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3sqrt((((((Pi^3/Pi)^1/8 – Pi)))/(((Pi^3/Pi)^1/8 – Pi)))) * sqrt((((Pi^3/Pi)^1/8 – Pi))) 
((1+1/4*Pi+(3/8)^2*Pi^2)) + 4i 

Where 4 is a Lucas number 

Input: 

 

 

Exact result: 

 

Decimal approximation: 

 

Polar coordinates: 
 

16.8087  result very near to the mass of the hypothetical light particle, the boson mX 
= 16.84 MeV 

 

 
Alternate forms: 

 

 

 

Expanded form: 
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Series representations: 
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55 
 

 

 

 

3sqrt((((((Pi^3/Pi)^1/8 – Pi)))/(((Pi^3/Pi)^1/8 – Pi)))) * sqrt((((Pi^3/Pi)^1/8 – Pi))) 
((1+1/4*Pi+(3/8)^2*Pi^2)) - ((21+3)/10^2)i 

Where 21 and 3 are Fibonacci numbers 

Input: 
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Exact result: 

 

Decimal approximation: 

 

Polar coordinates: 
 

12.5687 result practically equal to the black hole entropy 12.5664 

 
Alternate forms: 

 

 

 

Expanded form: 

 

 
Series representations: 



57 
 

 



58 
 

 



59 
 

 

 

 

13*  3sqrt((((((Pi^3/Pi)^1/8 – Pi)))/(((Pi^3/Pi)^1/8 – Pi)))) * sqrt((((Pi^3/Pi)^1/8 – 
Pi))) ((1+1/4*Pi+(3/8)^2*Pi^2)) - ((21+3)/10^2)i-(47-7)i-(1/golden ratio)i 

Input: 
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Exact result: 

 

Decimal approximation: 

 

Polar coordinates: 
 

125.655  result very near to the dilaton mass calculated as a type of Higgs boson: 125 
GeV for T = 0 

 

 
Alternate forms: 

 

 

 

Expanded form: 

 

 
Series representations: 



61 
 

 



62 
 

 



63 
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(3+sqrt(3)) (((1+2e^(-3Pi*sqrt(5))+2e^(-12Pi*sqrt(5))+2e^(-27Pi*sqrt(5))) 



64 
 

Input: 

 

 
Decimal approximation: 

 

4.73205081423… 

 

Alternate forms: 

 

 

 

 
Series representations: 

 

 



65 
 

 

 

4* (3+sqrt(3)) (((1+2e^(-3Pi*sqrt(5))+2e^(-12Pi*sqrt(5))+2e^(-27Pi*sqrt(5)))))-Pi 
+1/golden ratio 

Input: 

 

 

 
Decimal approximation: 

 

16.404644592…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 

 

Alternate forms: 
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Series representations: 
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1/((((3+sqrt(3)) (((1+2e^(-3Pi*sqrt(5))+2e^(-12Pi*sqrt(5))+2e^(-
27Pi*sqrt(5))))))))^1/256 

Input: 
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Decimal approximation: 

 

0.993946681992…. result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

 

Alternate forms: 

 

 

 
Series representations: 
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1/2 log base 0.993946681992 (((1/((((3+sqrt(3)) (((1+2e^(-3Pi*sqrt(5))+2e^(-
12Pi*sqrt(5))+2e^(-27Pi*sqrt(5)))))))))))-Pi+1/golden ratio 

Input interpretation: 
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Result: 

 

125.4764413…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 

 
Alternative representation: 

 

 
Series representations: 
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Now, we have: 

Page 270 

 

 

For p = 2, we obtain: 

(1+2)^2(1-2^2)/(1+2*2) = α = -5.4 ;   (1-2)^2(1-2^2)/(1+2*2)^3 = β = -0.024; 

2^3((2+2)/(1+2*2)) = 1 – α = 6.4 ;   2(((2+2)/(1+2*2)))^3 = 1 – β = 1.024 ; 
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Page 272-273 

 

For: 

α = -5.4 ;   β = -0.024; 

1 – α = 6.4 ;   1 – β = 1.024 ; 

 

 (((1.024^5)/6.4))^1/8 – (((-0.024^5)/(-5.4)))^1/8 

Input: 

 
 
Result: 

 
0.726038... 

1+(2)^1/3 * (((-0.024^5(1.024)^5))/(-5.4(6.4)))^1/24 

Input: 

 
 
Result: 

 
1.502257... 
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((((((1.024^5)/6.4))^1/8 – (((-0.024^5)/(-5.4)))^1/8)))x = 1+(2)^1/3 * (((-
0.024^5(1.024)^5))/(-5.4(6.4)))^1/24 

Input: 

 

 
Result: 

 

Plot: 

 

Alternate form: 
 

Alternate form assuming x is real: 
 

 
Solution: 

 

2.06912 
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For: 

α = -5.4 ;   β = -0.024; 

1 – α = 6.4 ;   1 – β = 1.024 ; 

(((-5.4^5)/-0.024))^1/8 – (((6.4^5)/(1.024)))^1/8 

Input: 

 
 
Result: 

 
1.39211... 

 

1+(2)^1/3 * ((((-5.4^5(6.4)^5)/(-0.024(1.024))))^1/24 

Input: 

 
 
Result: 

 
4.07568... 

 

((((((-5.4^5)/-0.024))^1/8 – (((6.4^5)/(1.024)))^1/8)))x =  1+(2)^1/3 * ((((-
5.4^5(6.4)^5)/(-0.024(1.024))))^1/24 

Input: 
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Result: 

 

Plot: 

 

Alternate form: 
 

Alternate form assuming x is real: 
 

Solution: 

 

2.9277 

 

The difference between the two results is:  
 
Input interpretation: 

 
 
Result: 

 
0.85858 
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While the sum: 

Input interpretation: 
 

 
Result: 

 
4.99682 ≈ 5 

In conclusion, we obtain: 

(((1/(2.06912) + 1/(2.9277))))^1/64 

Input interpretation: 

 
 
Result: 

 
0.9969961... result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

2 log base 0.9969961 (((1/(2.06912) + 1/(2.9277))))-Pi+1/golden ratio 

Input interpretation: 
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Result: 

 

125.476…. result very near to the dilaton mass calculated as a type of Higgs boson: 
125 GeV for T = 0 

 

Alternative representation: 

 

 
 
 
Series representations: 

 

 

 

1/4 log base 0.9969961 (((1/(2.06912) + 1/(2.9277))))+1/golden ratio 

Input interpretation: 

 

 

 

Result: 

 

16.6180…. result very near to the mass of the hypothetical light particle, the boson 
mX = 16.84 MeV 
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Alternative representation: 

 

 
Series representations: 

 

 

 

And: 

(2.9277 / 2.06912) 

Input interpretation: 

 
 
Result: 

 
1.41494935.... ≈ √2 = 1.414213562373... 

 

Now, we have that (page 274): 
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e^(-3Pi)+e^(-5Pi)+e^(-Pi*sqrt(5))+e^(-Pi*sqrt(7)) 

Input: 

 
 
Exact result: 

 
 
Decimal approximation: 

 
0.00121596618…. 

 
Alternate forms: 

 

 
 

((e^(-3Pi)+e^(-5Pi)+e^(-Pi*sqrt(5))+e^(-Pi*sqrt(7))))^1/1024 

Input: 
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Exact result: 

 

Decimal approximation: 

 

0.9934665377…. result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

Alternate form: 

 

 
All 1024th roots of e^(-5 π) + e^(-3 π) + e^(-sqrt(5) π) + e^(-sqrt(7) π): 
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Series representations: 

 

 

 

 
Integral representation: 

 

 

 

1/8 log base 0.9934665377541 ((e^(-3Pi)+e^(-5Pi)+e^(-Pi*sqrt(5))+e^(-Pi*sqrt(7))))-
Pi+1/golden ratio 

Input interpretation: 
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Result: 

 

125.47644133…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 

 
Alternative representation: 

 

 
Series representations: 

 

 

 

 

 

1/64 log base 0.9934665377541 ((e^(-3Pi)+e^(-5Pi)+e^(-Pi*sqrt(5))+e^(-
Pi*sqrt(7))))+1/golden ratio 

Input interpretation: 
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Result: 

 

16.618033989…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 
Alternative representation: 

 

 
Series representations: 
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x((8-3*sqrt(7))/16) = e^(-Pi*sqrt(7)) 

Input: 

 

Exact result: 

 

Plot: 

 

Alternate form: 

 

Expanded form: 
 

 

 
Solution: 
 

 

0.062623 = F 

 

Indeed: 

0.062623((8-3*sqrt(7))/16) 

Input: 
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Result: 

 
0.00024558418385… 

 

e^(-Pi*sqrt(7)) 

Input: 

 

 
Exact result: 

 

Decimal approximation: 

 

0.0002455836631… 

Property: 

 

 
 
 
 
Series representations: 

 

 

 

 
Integral representation: 
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Page 275-276 

 

 

 

e^(-Pi*sqrt6)+e^(-Pi*sqrt15)+e^(-3Pi*sqrt2)+e^(-Pi*sqrt6) 

Input: 

 
 
Exact result: 

 
 
Decimal approximation: 

 
0.0009167465721… 
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Alternate forms: 

 

 
 

((e^(-Pi*sqrt6)+e^(-Pi*sqrt15)+e^(-3Pi*sqrt2)+e^(-Pi*sqrt6)))^1/1024 

Input: 

 

 
Exact result: 

 

Decimal approximation: 

 

0.99319253479…. result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

 
All 1024th roots of e^(-3 sqrt(2) π) + 2 e^(-sqrt(6) π) + e^(-sqrt(15) π): 
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Series representations: 
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Integral representation: 

 

 

1/8*log base 0.993192534797 ((((e^(-Pi*sqrt6)+e^(-Pi*sqrt15)+e^(-3Pi*sqrt2)+e^(-
Pi*sqrt6)))))-Pi+1/golden ratio 

Input interpretation: 

 

 

 

 
Result: 

 

125.4764413…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 

 
Alternative representation: 
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Series representations: 
 

 

 

 

 

1/64*log base 0.993192534797 ((((e^(-Pi*sqrt6)+e^(-Pi*sqrt15)+e^(-3Pi*sqrt2)+e^(-
Pi*sqrt6)))))+1/golden ratio 

Input interpretation: 

 

 

 

 
Result: 
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16.61803399…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 
 
Alternative representation: 

 

 
Series representations: 
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x((sqrt6-sqrt2-1)/(sqrt2-1))^2 = e^(-Pi*sqrt6) 

Input: 

 
 
Exact result: 

 
Plot: 

 
 
Alternate forms: 

 

 

 
 
Expanded form: 

 
 
Solution: 
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0.0627277392084520 = F 

 

 

0.0627277392084520((sqrt6-sqrt2-1)/(sqrt2-1))^2 = e^(-Pi*sqrt6) 

Input interpretation: 

 
 
Result: 

 
 

e^(-Pi*sqrt6) 

Input: 

 

 
Exact result: 

 

Decimal approximation: 

 

0.00045496094…  

Property: 

 

 
Series representations: 
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Integral representation: 

 

 

3(0.00024558418385 / 0.00045496094) 

Input interpretation: 

 
 
Result: 

 
1.61937539418.... result that is a very good approximation to the value of the golden 
ratio 1,618033988749... 
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x(1/2-3(5sqrt13-18)^1/2) = e^(-Pi*sqrt13) 

Input: 

 
 
Exact result: 

 
 
Plot: 
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Alternate forms: 

 

 

 
 
Expanded form: 

 
 
Alternate form assuming x>0: 

 
 
Solution: 

 
0.062506027996390 = F 

 

 

0.062506027996390(1/2-3(5sqrt13-18)^1/2) 

Input interpretation: 

 



97 
 

 
Result: 

 
0.000012041238186004… 

 

e^(-Pi*sqrt13) 

Input: 

 

Exact result: 

 

Decimal approximation: 

 

0.00001204123679… 

Property: 

 

 
Series representations: 

 

 

 

 
Integral representation: 

 

 

((e^(-Pi*sqrt13)))^1/1024 
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Input: 

 

 
Exact result: 

 

Decimal approximation: 

 

0.9889992627…. result very near to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

Property: 

 

 
All 1024th roots of e^(-sqrt(13) π): 

 

 

 

 

 

 

Series representations: 
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Integral representation: 

 

 

1/8*log base 0.988999262786((((e^(-Pi*sqrt13)))))-Pi+1/golden ratio 

Input interpretation: 

 

 

 

 
Result: 

 

125.4764413…. result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 

 
Alternative representation: 

 

 
Series representations: 
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1/64*log base 0.988999262786((((e^(-Pi*sqrt13)))))+1/golden ratio 

Input interpretation: 

 

 

 

 
 
 
Result: 

 

16.61803399…. result very near to the mass of the hypothetical light particle, the 
boson mX = 16.84 MeV 

 
Alternative representation: 

 

 
Series representations: 
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1/((e^(-Pi*sqrt13)))-2*4096-(1024+256+64+16+4)  = 
 

= 1/((e^(-Pi*sqrt13)))-2*4096-(64*2^4+64*2^2+64+2^4+2^2) 

 

Input: 

 

 
Exact result: 

 

 
Decimal approximation: 

 

73491.94736… 

Property: 

 

 
Series representations: 

 

 



102 
 

 

We have the following mathematical connections: 

 

ቀ ቁ = 73491.94736 ⇒ 

 

⇒ −3927 + 2

⎝

⎜
⎛
ඪ

+
భయ

⎠

⎟
⎞
= 

 

                      
     
                     = 73490.8437525.... ⇒ 
 
 

⇒ ൬𝐴(𝑟) ×
1

𝐵(𝑟)
൬−

1

𝜙(𝑟)
൰ ×

1

𝑒Λ(௥)
൰ ⇒ 

 

⇒ ቌ ቍ = 

               =   
 
               =  73491.7883254... ⇒ 
 
 

⎝

⎜
⎛

⎠

⎟
⎞

/ 
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       /(26 × 4)ଶ −24  = ቌ ቍ = 73493.30662… 

 
 
Mathematical connections with the boundary state corresponding to the NSNS-sector 
of N Dp-branes in the limit of u → ∞, with the ratio concerning the general 
asymptotically flat solution of the equations of motion of the p-brane and with the  
Karatsuba’s equation concerning the zeros of a special type of function 
connected with Dirichlet series. 
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(((1-sqrt(1-(55+12sqrt21)(8-3sqrt7)^2)))/2 

Input: 

 
 
Decimal approximation: 
 

 
0.12351686109…. 

 

Alternate forms: 
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Minimal polynomial: 

 
 

e^-(Pi*sqrt21) 

Input: 

 

Exact result: 

 

Decimal approximation: 
 More digits 

 

5.59296474925…*10-7 

Property: 

 

Series representations: 
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Integral representation: 

 

 

And: 

(((1-sqrt(1-(55-12sqrt21)(8-3sqrt7)^2))))/2 

Input: 

 
Decimal approximation: 
 

 
8.9487035589…*10-6 

 
Alternate forms: 
 

 

 

 
 
Minimal polynomial: 

 
 

((((((1-sqrt(1-(55+12sqrt21)(8-3sqrt7)^2))))/2))) - ((e^-(Pi*sqrt21))) 

Input: 

 

Exact result: 
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Decimal approximation: 
 

 

0.123516301794…. 

 

Property: 

 

Alternate forms: 
 

 

 

 

 
Series representations: 
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And: 

(((1-sqrt(1-(55-12sqrt21)(8-3sqrt7)^2))))/2 - e^-(Pi*sqrt21) 

Input: 

 

 
Exact result: 

 

Decimal approximation: 
 

 

8.389407084…*10-6 

 

 

Property: 

 

Alternate forms: 
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Series representations: 
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(((((1-sqrt(1-((((((1/2(4+sqrt7)^1/2-(7)^1/4)))))^24)))/2)))) 

Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
1.2019072669316….*10-12 

 

Alternate forms: 
 

 

 

 
Minimal polynomial: 
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(((((1-sqrt(1-((((((1/2(4+sqrt7)^1/2-(7)^1/4)))))^24)))/2)))) - e^(-7*Pi) 

Input: 

 

 
Exact result: 

 

Decimal approximation: 
 

 

-2.802249384816239….*10-10 

 

Property: 

 

Alternate forms: 
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Series representations: 
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(((((1-sqrt(1-(sqrt5-2)^8(2-sqrt3)^8((((((1/2(4+sqrt15)^1/2+(15)^1/4)))))^24)))/2)))) 

Input: 

 
Exact result: 

 
 
Decimal approximation: 
 

 
Polar coordinates: 

 
17.2317 

 

(((((1-sqrt(1-(sqrt5-2)^8(2-sqrt3)^8((((((1/2(4+sqrt15)^1/2+(15)^1/4)))))^24)))/2)))) - 
e^(-15*Pi) 

Input: 
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Exact result: 

 
Decimal approximation: 

 
Property: 

 
Polar coordinates: 

 
17.2317 

From the following three results, we obtain: 

-2.802249384816239….*10-10    0.123516301794….   17.2317 

 

-2.802249384816239*10^-10 +  0.123516301794 + 17.2317 

Input interpretation: 
 

 
Result: 

 
17.35521630....  

 

-2.802249384816239*10^-10 * 0.123516301794 * 17.2317 

Input interpretation: 
 

 

Result: 

 
-5.964295982...*10-10 
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We note that : 

-1/ (-2.802249384816239*10^-10 *  0.123516301794 * 17.2317) 

Input interpretation: 

 
 
Result: 
 

 
1.67664382....*109 

and: 

e^(-2.802249384816239*10^-10 +  0.123516301794 + 17.2317) 

Input interpretation: 

 
 
Result: 
 

 
3.44568...*107 

from which: 

(((((e^(-2.802249384816239*10^-10 +  0.123516301794 + 17.2317))))))^1/2 – 34 

Input interpretation: 

 
 
Result: 
 

 
5835.989656.... result practically equal to the rest mass of bottom Sigma baryon 
5835.1 

And: 

1/(((((e^(-2.802249384816239*10^-10 +  0.123516301794 + 17.2317))))))^1/4096 

Input interpretation: 
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Result: 

 
0.99577185.... result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

2sqrt((((log base 0.99577185 (((1/(((((e^(-2.802249384816239*10^-10 +  
0.123516301794 + 17.2317)))))))))))))-Pi+1/golden ratio 

Input interpretation: 

 

 
 

 
Result: 

 
125.476.... result very near to the dilaton mass calculated as a type of Higgs boson: 
125 GeV for T = 0 

 

1/4 sqrt((((log base 0.99577185 (((1/(((((e^(-2.802249384816239*10^-10 +  
0.123516301794 + 17.2317)))))))))))))+1/golden ratio 

Input interpretation: 
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Result: 

 
16.6180.... result very near to the mass of the hypothetical light particle, the boson mX 
= 16.84 MeV 

 

 

From: 

Dynamical evolutions of ℓ-boson stars in spherical symmetry 
Miguel Alcubierre, Juan Barranco, Argelia Bernal, Juan Carlos Degollado, 
Alberto Diez-Tejedor, Miguel Megevand, Dario Nunez, and Olivier Sarbach - 
arXiv:1906.08959v2 [gr-qc] 9 Oct 2019 
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We have the following partial Tables, where we show only some values: a) those that 
are connected to the Rogers-Ramanujan continued fraction 0.9568666373, to the 
spectral index ns , to the mesonic Regge slope (see Appendix), to the inflaton value at 
the end of the inflation 0.9402 and b) those that are connected to the values near to 
the golden ratio conjugate, near to the golden ratio and to the square of it. 

 

The expression for the total mass of ℓ-boson star is: 

 

From: 
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A FRAMEWORK OF ROGERS–RAMANUJAN IDENTITIES AND THEIR ARITHMETIC 
PROPERTIES - MICHAEL J. GRIFFIN, KEN ONO, AND S. OLE WARNAAR 
https://arxiv.org/abs/1401.7718v4 
 

 

We have that, from (1.4): 

((5+sqrt(5))/2)^1/2 – (((sqrt(5)-1)/2)) 

Input: 

 
 
Result: 

 
Decimal approximation: 

 
1.28407904384...  
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Alternate forms: 

 

 
 
Minimal polynomial: 

 
 

From which, we have that: 

((5+sqrt(5))/2)^1/2 – x = 1.284079043840412296 

Input interpretation: 

 

Result: 

 

Plot: 

 

Alternate forms: 
 

  

 
Solution: 
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0.61803398….. result very near to the value of the total mass of ℓ-boson star 0.6193 
and equal to the conjugate of the value of the golden ratio 

 

 

     

 

 

Thence, we have the following mathematical connection, between the total mass of ℓ-
boson star and the Rogers-Ramanujan q-continued fraction: 

 

 

𝑀 =

⎝

⎜
⎜
⎜
⎛

⎠

⎟
⎟
⎟
⎞

≅ ൭ ൱ ⇒ 

 0.6193 ≅ 0.61803398….. 

 

And: 

-Pi+((5+sqrt(5))/2)^1/2 – (((sqrt(5)-1)/2)) 

Input: 

 

 
Result: 
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Decimal approximation: 

 

-1.8575136… 
 
Property: 

 

Alternate forms: 

 

 

 

 
Series representations: 
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thence: 

 

 

𝑀 =

⎝

⎜
⎜
⎜
⎛

⎠

⎟
⎟
⎟
⎞

≅ −ቌ ቍ ⇒ 

1.8558 ≈ 1.8575136 

 

Then: 

((5+sqrt(5))/2)^1/2 – (((sqrt(5)-1)/2)) + 7/18 

where 7 and 18 are Lucas numbers 

Input: 

 
 
Result: 

 
Decimal approximation: 
 

 
1.6729679327….result practically equal to the proton mass 

 

Alternate forms: 
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Minimal polynomial: 
 

 

And: 

 

 

𝑀 =

⎝

⎜
⎜
⎜
⎛

⎠

⎟
⎟
⎟
⎞

≅ ቌ ቍ ⇒ 

                

                        ቀ ቁ  ≅ 1.6729679327…. 

 

 

 

From: 

Dynamical evolutions of ℓ-boson stars in spherical symmetry 
Miguel Alcubierre, Juan Barranco, Argelia Bernal, Juan Carlos Degollado, 
Alberto Diez-Tejedor, Miguel Megevand, Darıo Nunez, and Olivier Sarbach 

arXiv:1906.08959v2 [gr-qc] 9 Oct 2019 
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We note that: 

From: 
 
Astronomy & Astrophysics manuscript no. ms c ESO 2019 - September 24, 2019 
Planck 2018 results. VI. Cosmological parameters 
 
The primordial fluctuations are consistent with Gaussian purely adiabatic scalar 
perturbations characterized by a power spectrum with a spectral index ns = 0.965 ± 
0.004, consistent with the predictions of slow-roll, single-field, inflation. 
 
 

We know that α’ is the Regge slope (string tension). With regard the Omega mesons, 
the values are: 
 
 

                        
 

                                    
 

                                       
 
 

 

 

 

From: 

PHYSICAL REVIEW D 99, 024028 (2019) 

Topological dyonic dilaton black holes in AdS spaces 
S. Hajkhalili and A. Sheykhi 

We have that: 
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We have that: 

0.6^2/4(1-0.2/0.6) = S  

Input: 

 
 
Result: 

 
 

0.5 = x/(4Pi)  = q 

Input: 

 
 
Solution: 
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6.28319 = 2π = q 

0.4 = x/(4Pi) 

Input: 

 

Plot: 

 

Alternate form: 

 

 
Solution: 

 

5.02655 = p 

 

From: 

 

For b = 0.2,  q = 0.61  and  p = 0.5 

((((0.61)^2-(0.5)^2))) / (4*0.2*Pi) 

Input: 
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Result: 

 

0.0485820 

 

Alternative representations: 

 

 

 

 
Series representations: 

 

 

 

Integral representations: 
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Or, with the previous data: 

 

For b = 0.2  q = 2π  and p = 5.02655, we obtain: 

 

(((2Pi)^2-(5.02655)^2)) / (4*0.2*Pi) 

Input interpretation: 

 

 
Result: 

 

5.65486…. = M 

 
Alternative representations: 

 

 

 

 
Series representations: 
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Integral representations: 

 

 

 

 

 

From the previous result: 

 
0.0485820 ,  inserting this value of mass 0.048582000 in the Hawking radiation 
calculator, we obtain: 

 
Mass = 0.048582000 
 
Radius = 7.213706e-29 
 
Temperature = 2.526045e+24 
  
From the Ramanujan-Nardelli mock formula, we obtain: 

sqrt[[[[1/(((((((4*1.962364415e+19)/(5*0.0864055^2)))*1/(0.048582000)* sqrt[[-
((((2.526045e+24 * 4*Pi*(7.213706e-29)^3-(7.213706e-29)^2))))) / ((6.67*10^-
11))]]]]] 

 

Input interpretation: 
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Result: 
 

 
1.6182492… 
 
And: 

1/sqrt[[[[1/(((((((4*1.962364415e+19)/(5*0.0864055^2)))*1/(0.048582000)* sqrt[[-
((((2.526045e+24 * 4*Pi*(7.213706e-29)^3-(7.213706e-29)^2))))) / ((6.67*10^-
11))]]]]] 

Input interpretation: 

 
 
Result: 

 
0.61795179… 

 

Now, we have: 
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For  Q = 0.6   P = 1  and b = 0.2, we obtain: 

 

(4pi/0.2) (0.6^2-1) 

Input: 

 

 
Result: 

 

-40.2124…. = M 

 
Alternative representations: 

 

 

 

 
Series representations: 

 

 

 

 
Integral representations: 
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From the ratio of two masses, we obtain: 

-((4pi/0.2) (0.6^2-1))/0.048582000 

Input interpretation: 

 

Result: 
 

 

827.722… 

Alternative representations: 
 More 

 

 

 

 
Series representations: 

 More 
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Integral representations: 
 More 

 

 

 

 

 

From the ratio between the charge and the two masses ratio, we obtain: 

1/((((0.6*1 /(((-((4pi/0.2) (0.6^2-1))*1/0.048582000))))))) 
 
Input interpretation: 

 

Result: 
 

 

1379.54...  result very near to the rest mass of Sigma baryon 1382.8 

 

Alternative representations: 
 More 
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Series representations: 

 More 

 

 

 

 

Integral representations: 
 More 
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From the ratio between the charge 0.6 and the mass 0.048582000, we obtain: 

((((0.6/(((((((0.61)^2-(0.5)^2))) *1/ (4*0.2*Pi))))) 

Input: 

 

 
Result: 

 

12.3502….  

This result is very near to the values of black hole entropies 12.1904 – 12.5664 

 

 
Alternative representations: 

 

 

 

 
Series representations: 
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Integral representations: 

 

 

 

 

And: 

((((0.6/(((((((0.61)^2-(0.5)^2))) *1/ (4*0.2*Pi))))))))*Pi^2+(sqrt5+5)/2 

Input: 

 

 
Result: 

 

125.510… result very near to the dilaton mass calculated as a type of Higgs boson: 
125 GeV for T = 0 

 
Series representations: 
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And: 

1/(((((((0.6/(((((((0.61)^2-(0.5)^2))) *1/ (4*0.2*Pi))))))))*Pi^2+(sqrt5+5)/2)))^1/4096 

Input: 

 

 
Result: 

 

0.998820914… result very near to the value of the following Rogers-Ramanujan 
continued fraction: 
 

 
 
 

and to the dilaton value 𝟎. 𝟗𝟖𝟗𝟏𝟏𝟕𝟑𝟓𝟐𝟐𝟒𝟑 = 𝝓 

 

Series representations: 
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And also: 

2sqrt[log base 0.998820914 (((1/(((((((0.6/(((((((0.61)^2-(0.5)^2))) *1/ 
(4*0.2*Pi))))))))*Pi^2+(sqrt5+5)/2))))))]-Pi+1/golden ratio 

Input interpretation: 

 

 

 

 
Result: 

 

125.47644089… result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 

 

 
Series representations: 
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For Q = 0.6 and M = -40.2124, we obtain: 

2[((((1/((((0.6*1 /(((-((4pi/0.2) (0.6^2-1))))))))))))) - Pi]-golden ratio^2 

Input: 

 

 

 
Result: 

 

125.140067257… result very near to the dilaton mass calculated as a type of Higgs 
boson: 125 GeV for T = 0 
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Alternative representations: 

 

 

 

 
Series representations: 

 

 

 

 
 
 
 
Integral representations: 
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